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For exercises 1 to 7:

Consider the following set of processes, with the length of the CPU burst given in milliseconds:

	Process
	Burst Time

	P1
	10

	P2
	1

	P3
	2

	P4
	1

	P5
	5


The processes  P1, P2, P3, P4, and P5, are assumed to be in the ready queue at time 0.

Draw three Gantt charts that illustrate the execution of those processes using the following scheduling algorithm:

1. First come first serve (FCFS). (11 points).
2. Shortest job first (SJF) non preemptive. (11 points).
3. Round Robin (RR) with quantum = 1. (11 points).
What is the waiting time of each process for:

4. FCFS? (11 points).
5. SJF? (11 points).
6. RR? (11 points).
7. Which of the scheduling algorithms results in the minimum average waiting time (over all processes)? (11 points).
8. Answer the following questions about I/O operations: 

a) Where is the I/O request queue?

b) Give the name of the program that produces the IORBs.

c) Give the name of the program that consumes the IORBs.

d) When the I/O operation is completed how does the OS identifies the process that initiated the I/O request?

e) Give the names of three of the fields of the IORB. 

 (11 points).
9. Assume you must decide on the purchase of a new hard disk for the  main server in the company you are currently working.  Suppose that the disk has 5000 cylinders, numbered 0 to 4999 and it can be handle with two different scheduling algorithm.  To test the disk we assume that the driver is currently serving a request at cylinder 143, and the previous request was at cylinder 520. The queue of pending request, in FIFO order, is:


86, 1470, 913, 1774, 948, 1509, 1022, 1750, 130.

Starting from the current head position, what is the average seek time, for each of the following disk scheduling algorithms?

  SCAN, SSTF

 What is the disk scheduling algorithm that you would use to handle the new hard disk?

 (11 points).

